= SEE(E Mg (715) Lerael) Gl -
ER=
o o s 2 g =
2 s & o
A ,500,000| 63,500,000 24,000,000
70
ot ,880,495 4,488,227 392,268
,598,495 4,364,852 233,643
,598, 495 4,364,852 233,643
,820,006 3,627,258 192,748
,581,686 3,391,038 190,648
,548,233 3,358,850 189,383

2,940,600& x 4H x 128 x 1.

2,512,100& x 153 x 1228 x 1.

2,065,000& x 199 x 128 x 1.

1,330,900& x 9&H x 12& x 1.

973,900 x 4H x 12& x 1.

2,164,500 x 128 x 128 x 1.

1,855,600& x 153 x 128 x 1.

879,300& x 1&H x 12& x 1.




[ 220 ]
2 1 (700) ot Al HI S gt (710) g = N& @ (715) LBrzely| = (101) ol 24| cel : H
)} = d @ &
_ AF  OH = o = =
2 | & R = ol l = o A o =) =] = J| =
SEACE= 167,362
d2Y 2,008,338,000& x 1/12 167,362
ocHsUAX(42 A 60,864,000& x 1Y 60,864
ox 2 RY 141,423
AZ2HQl =S (Bt) 77,4573 x 468 x 30Al 2+ x 128 = 123,488
NZHY 42 (BHABEE 29)
7,4573 x 13Y¥ x 37A1 2t xb& = 17,935
oclyusy 302,882
Hezea4+y 51,995
- 42U 2,940,600 x 1Y x4 .8/100x 12& = 1,694
- 52U 2,512, 100& x 10Y9 x4.8/100x 128 = 14,470
- 62U 2,065,000& x 16Y x4.8/100x 12& = 19,032
- 72U 1,330,900& x 19 x4.8/100 x 128 = 767
- Jls7T=slR 1,855,600 x8% x4.8/100x 12& 8,551
-Jls6=slH=R 2,164,500 x6Y x4.8/100x 12& 7,481
249t 32 85,560




N (715) gt S @ (101) 2 el H)
o9 o=
= o & o | B & J| ES

- 2530/ & 130,000& x 199 x 128 = 29,640

- 201~251 0] & 110,000 x 199 x 128 = 25,080

- 15~2014 0 &t 80,0009 x 22 x 128 = 21,120

- 10E~15401 8 60,0002 x 6% x 128 = 4,320

- 5~101 0| 8t 50,0002 x 9% x 128 = 5,400

EagY 57.819

- B2 X 40,0008 x 79% x 0.78 x 128 = 29,578

- YIS 20,0008 x 79 x 1.48x 128 = 28,061

- ABOL Ol &t 50,000& x5 x0.06x 128 = 180

NEHEH S X 23,988

- =30 51,9909 x 802 x 0.19% 43] = 3,161

- DS 433,880% x 802 x 0.15% 43] = 20,827

A+ 50,0009 x 283 x 128 = 16,800

sagesy 66,720

-JleEELsY 12,360

* 52 30,0002 x 18 x 128 = 360




[ 20 ]

2 (700) ot Al HI S gt (710) Sl = Mg (715) Lerzely| = (101) ol244] crol - M)

o B @ @ o

- o & o 5 2 & = 5] =

2 |g NS s o & o
* 6~72 (0 s6~73) 30,000& x22% x 12& = 7,920
* 82 0|0t (Jl=s83 0ldt) 20,000& x 178 x 12&8 = 4,080
- J=d22Y Jta3 9,360
* J|S&, JIA 30,000& x 188 x 12&8 = 6,480
* AP DAL 20,0003 x 128 x 128 = 2,880
- g 150,000 x 259 x 12& = 45,000
o J Az A 130,000 x 80 x 12& = 124,800
cuESE X 120,120
5= 140,000 x 49 x 12&8 = 6,720
6~7=2 (J1s6~73) 130,000 x 459 x 12& = 70,200
8~9=2 (J1=8~93) 120,000& x 309 x 128 = 43,200
ocHHF Y| 2,008,338,000& x 1/12x60% % 23| = 200,834
o JtH X & 2,008,338,000& x 16.7% = 335,393
o HIJtE &yl 2,069,202,000& x 15/360 = 86,217

33,453 32,188 1,265|04 JI2AHZZ2ANSES

oAEERA LU ZIHH A EXoF 10,803




(710) 2eib g Mgt (715) Lurzely] = ¢ (101) Q2| (2o
3 W &
of & o = 2 o s y ES
2 o A o
ol 2y 35,290& x 250 = 8,823
apEEl e Ya 8,823,0002 x 11.1% = 980
CEE 1,000,0002! x 1% = 1,000
CEAFY =X ¥ HAFY (LT 2) 22,650
01 21 200,0002 x 152 x 7HE = 21,000
T 10,0008l x 159 = 1,650
102
SRS 238,320 236,220 2,100
9,000 9,000 0|01 HN¥MzZHg2HFY|
oA MIHIF A 9,000
EAPSy 350,000& x 1¥ x 12& = 4,200
oA 100,0008! x 42 x 128 = 4,800
133,320 131,220 2,100/02 HZE=EH|
oXZE I 133,320

43 400,000 x 12 x 128 = 4,800

53 250,000 x 4% x 128 = 12,000

62 (71562) 155,000 x 159 x 128 = 27,900




D (710) 2Bl M (715) Lerzell 2 1 (102) AR+ AL] (crel ¢ m)
oA =
o o = & & = pJ ES
2 of A o
2001s72) 140,000& x 31¥ x 128 = 52,080
8~92 (71 58-93) 105,000 x 29% x 128 = 36,540
96,000 96,000 0/03 SHYLLHAL|
cSHYARLHUE S| 96,000
ZIYEANBRY S2SSH 80,0008 x79% x 128 = 75,840
PNg=3= 3] 80,0009 x 6% x 128 = 5,760
E=PN=g=F R 80,0009 x 5% x 128 = 4,800
I gy 80,0002 x 4% x 128 = 3,840
F2ddgdEsRA 80,000& x 69 x 12&8 = 5,760
200
2 A 150,477 149,508 969
201
2e2dA 81,117 84,288 A3, 171
73,949 73,025 92401 AtR22ld
o1, Lets 2| 56,930
fAed getxgl 3,100,0008 = 3,100
Of AFAT IR 11,000
-gx 30,0002 x 1008 = 3,000
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Bo:(700) BIASAMYHIE B ¢ (710) YYHIS ME : (715) 2erzaill 2 : (201) 22wy e m)
o B @ @ o
- o & o 5 2 & = 5] =
2 |g NS s o & o
- =& 20,0003 x 1005 x 23] 4,000
- AN ME 40,000& x 1008 4,000
HdAUYE L HY =2 20,000& x 2008] 4,000
S2EOIN. BEHNY)DE 442
200,000& x 2J0 Ak x 33l 1,200
ST AY B +28 20,000, 000! 20,000
HATZIY DMUUET HSEA 442
9,000,000 9,000
2E MM Y OE o4 5,000
- A4 150& x 10& x 2,0000H4 3,000
- & 50,0003 x 205 x 23] 2,000
HADD] A2 F¢ 200,000& x 40 x 33| 2,400
=SAMNEXN 7Y 1,230
- AMEX] 18,7003 x 508t A 935
- B4E Xl 29,5003 x 10&8F A 295
o2, e =l 2,340
SHEXUXZIEIRA(1F) 60,000& x5 x 54 1,500
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©(715)
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A HE

N
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(700)

pJ

840

I x 3 x 18] =

o
=

280,000

E
1[3]
K]
30
70

ol

H0
0

14,679

= gl

©5.

1,575

2 =

a

n0
o

80
0H
T

jilg

1,575,000

7,392

I x 118 x 82 x 128 =

o
=

<r

Mo

Kt
O+
ol

Kk

=
Ok
ol

17,000

<
]

oF
nJ

.

~J

30
"
0
Ed

-

<J

2,352
3,360
2,268

2

H x21e x4
Hx10Y x 128 =

2 x4

[uind

2 x 4

o=

o
[l

7,000
7,000

768

&

768,000

o
o4
Mo
M0

80
0K
x

I+

1,500

4,900
1,500

=
[=]
=
[=)

2l X 5

2l x 5

=)
—
o

s

300,000
300,000

HAE =S

L

3. NNE2&Hl=Xlb

g)

3,400,000

el gl (

<
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-

<

ol

1/
M0

A4,095102

11,263

7,168

r

100

00

1]

3,400
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st AL =R Mg : (715) gera (cre) : mg
= =
/ull' (LH g 24 7| _DTC_
o o
3,000 3,000 0/04 2A2 2
cR2N2Y FAH(EE 10 250,000& x 128 = 3,000
300
240l H 628,012 588,086 39,926
304
HazRY 625,212 588,086 37,126
513,190 489,679 23,511
2,322,124,000& x 17.251% = 400,590
2,322,124,000& x 4.849% = 112,600
112,022 98,407 13,615
3,959,878,000& x 2.655% = 105,135
105, 135,000& x 6.55% = 6,887
307
gIz2tol & 2,800 0 2,800
2,800 0 2,800
700,000& x4=2J]| = 2,800




[ g2 ]
20 (700) BtaTAIQBIE & ¢ (720) YAQAHIE Mg : (721) IS0I% S 1 (721-1) N20IX TP
ot = ¥ 4 o
AF OH = oF AF = =
720
o1 Q1 9 H| 8 282,000 123,375 158,625
721
X 20l X 282,000 123,375 158,625
721-1
X 20l X 282,000 123,375 158,625
SHIUZ 0N (2EaHALE O @NZZ
282,000 123,375 158,625 A R L
4,700,000,0002 x 6%/12x 122 282,000




[ 220 ]
2t 0 (100) MH=2EX = g (800) oflblyl A& @ (810) olldlbl £ @ (811) oldlbl (e : M=
1 = L o |2 = N " . _
= A ol = =
100 )
INE=RS PN 2,445,963 315,669 2,130,294
800
il 81 81 2,445,963 315,219 2,130,744
810
0ll Bl gl 2,445,963 315,219 2,130,744
811
0ol 81 Bl 2,445,963 315,219 2,130,744
Bl 2, , ,000& = 2, ,
2,445,963 315,219 2,130,744 < oialsl 445,963,000 445,963




[ A& ]

©(201) &

==
=

2l H

t

Bl
o)

I

©(715)

=y

: (700)

([e>] (e>] (@] (@) (@] (e] L0 L0 «©
() (@) () (@] (e} (e} O Al —
~ ™~ e ™~ N N ® ® e
[e o] [ep] < — — (<o) — [aN]
I Il I} 1 I I}
od o} = o} od o
g8 Y ° © 3 o
K4 =3 X X X o x
s 2w ) 9 S
™~ X S X 2 — ©
® @ S o - X
S o o < 30
= g = S LN
~ > > Lox
S S Ko
IV — o S
n <
OFr ~oo~
K E] S
Kr Kl Kl
= Bl Kk
_ " ok o-
D i3]
2 W W oD _ ol
<k i) w " w
Nl ™ s 0 >
7l ol ~J ~J
5T oll < = K0 K0
] 80 ~ — ) 80 )
n _ ok o — — —
A <k 0k ~ = K D (| K
o x < Tl ar <F 0 x <k
= ol I+ KJ A F ) no I+ 0
—_ N o
o 0 0 0
() (@) (@] (@) (@) (e}
. I F 5 5
nd «@ © © ©
W (a\] (a\] (a\]
<
Klo
ol ¢ 2| ¢g| 8|8
— — — — ~| «©o
w ol &S C| C “Cl | T
Rl =
K| ®o| K| | Q| 8
uOn_u [e 0] (e 0] e0] e0] Lo L0
) o ) ) ~| ©
- <t (o] (<o) (<o} — —
< [ee)
k=3
ar
0r
Eul
al 80
E=) R0 0H
T | 280 | —1!
00 Al | Qo | Kol
60 D @ oyl
= | ¥ D =W
=) < | o4l
0 H | 380
o<k
M| Ri6




1

sta e (710) 2yl Al 8t 2| b 2oyl ool : EEl)
T
A o 2 = | =
o o
EN
7,0008! x 6% x 62 x 128 = ,024
1,000 ,000 0 zz2494|
,000
1,000,000 = ,000
202
od b 43,320 680 2,640
43,320 680 2,640
20,0008 x 138 x 112 x 128 = 320
O1Hl 60,0002 x 4% x 42 x 63| = 760
60,0008 x 3% x 32 x 63| = 240
203
A=z 3,000 3,000 0
3,000 3,000 0
2 12%) 250,0002 x 128 = ,000




700) ot AL HI =2 & @ (720) S Hl= Mg o (721) XIZ20l Xt £ : (721-1) XS0l At ool MY
N = P B = I == _
o o N = of & oA o A o = Z At = Jl =
720
gFAQH = 600,000 900,000 300,000
721
INE=10IDN; 600,000 900,000 300,000
721-1
INE=20IDN; 600,000 900,000 A 300,000
600 000 900 000 A300.000 ocEdlotsXeId HE(EEEXZS 0lAH 600,000
[=2]11998H &= (1,495,200,000& *x4.02%) 60,157,000 60, 157
[=2]11999E &= (1,184,000,000& *x4.02%) 47,637,000 47,637
[=2]2000E &= (500,000,000 x4 .02%) 20,117,000& 20,117
[Z2]2001E = (5,416,800,0002 4 .02%) 217,937,000 217,937
[Z2]2002E = (6,316,800,0002 x4.02%) 254,152,000 254,152
730
Sg&4 180,000 0 180,000
732
Hdo|l=d=F &4 180,000 0 180,000
732-2 )
28 XZ3EEZ 180,000 0 180,000
180 000 0 180000 CLSJTXEEIHHADEXHUAIESAI 20BXZ BHE =
180,000, 000& 180,000




100) At=2&X= gt (120) JtsS &l Atat Mg s (127) BI17H13 £ 1 (405) X&FSH S (S+9] @ &)
o S o | & ¥ = . o ] _
A (0] = =
5 NE = o 4 q & @ = o = J|
A= 10,485,939 | 20,809,000 A 10,323,061
120
JtS &l A& 4,000 0 4,000
127
S 7HlS 4,000 0 4,000
405
ek SHI S 4,000 0 4,000
4,000 0 4,000/01 RXt&HF S|
o M= A 2L 4,000,000& x 14 = 4,000
130
Bl Ot S £ HI A&t 7,781,939 18,109,000 A 10,327,061
131
AL SR 7,781,939 18,109,000 A 10,327,061
401
AN&HIS 7,781,939 18,109,000 A 10,327,061
7,304,000 17,887,414|210,583,414|01 Al&H4]
ocli=Eot+Xecld A& 3,730,000
- [=1] 2,216,000,000& x 14 = 2,216,000
==y 106,000,000& x 14 = 106,000
- [Al] 1,408,000,000& x 14 = 1,408,000
oHGt I+ HR T AL 2,557,000
- [=] 2,360,000,000& x 14 = 2,360,000




= © (130) HIDIS & H|XtHAt Mg (131) A& S XAt 2 : (401) AIEHIS el - M)
PSR B =
&= 2 A = 9] =
2t = oo
[&] 197,000,000 x 14! 197,000
o= (LA)=sHEDIS HHlI 2 A ,017,000
[2] 782,000,000 x 14! 782,000
[E] 83,000,000 x 1Al 83,000
[Al'] 152,000,000 x 14l 152,000
455,000 172,635 282,365 |02 22l
ocHEGLHEIR HA 355,000
- [Al] 355,000,000 x 1Al 355,000
o= (YY) ENIS HHlI 2 A 100,000
- [Al] 100,000,000 x 1Al 100,000
22,939 48,951 A26,012|/03 Al LHHI
ollBdtsHel & AL 10,071
- [Al] 3,730,000,000€ x0.27/100 10,071
oXHol. Il Hot el & A 9,206
[Al'] 2,557,000,000< x 0.36/100 9,206
oEZX(LY)sHENS HH| 2 At 3,662




[1A]

gt (130) HIDot=S&HIXtHa Mg @ (131) AL SRt S : (401) AEHIS (

ool A
= ¥ oa =
o & o z 2 At = p] =
= o & o
Al 1,017,000,0002 x 0.36/100 = 3,662
2,700,000/ 2,700,000 0
2,700,000/ 2,700,000 0
=3 2,700,000 2,700,000 0
SootaMel R AL (BSENI A2 4 700,
2 700.000|  2.700,000 AL EEEY ) 2,700,000
[=]1098 & 124,600,0002 x 43| = 498,400
[=]19994 & 74,000,0002 x 43| = 296,000
(2120004 & 25,000,0002! x 43| = 100,000
(2120019 & 225,700,0002! x 43| = 902,800
[=]20024 & 225,700,000 x 48| = 902,800




s+cauHE 8 IS Mg (711) 200 bl el - mm)
8 ER
& o s 2 & | =
S oo
= 1,655,317 1,689,677 134,360
1,325,317 ,682,177 A 356,860
Bl 1,206,806 ,574,372 A 367,566
100
T 135,522 134,938 584
101
ol 24 135,522 134,938 584
135,522 134,938 584 azxe4s

120,091

41,2109 x 4% x 3132 = 51,595

12,898,730& x 4H x 1/12x 300% = 12,899

12,898,730& x 4H x 1/12x 120% = 5,160

41,2102 x 48 x 522 = 8,572

41,2102 x 48 x 20 = 3,297

7,730% x 4% x 22412 x 128 = 8. 163

30,0008 x 4% x 128 = 1,440

80,0002 x 4% x 128 = 3,840

75,0008 x 4% x 128 = 3,600




R

(711) 2214l

1

>
z

I

<

OH
2=

Ol

[l

pJ ==

MHH

41,2108 x 482 x 49H x 50%

420,790% x 4H x 43|

50,000& x 43 x 12

61,830& x 117

25,0003 x 43 x 128

130,000& x 4% x 23]

130,000& x 4% x 12|

10,000& x 4 x 23|

35,000& x4H x 13

40,000 x 4% x 23|

120,091,000& x 11.1%

,957

, 733

,400

,235

,200

, 100

,040

520

80

140

320

, 331

R
02
0¥
==

134,436

610,482

nem
E —_
Ho
02

r

111,436

54,682

26,060

24,800

,000




[ St ]
2 (700) St AYHI = st (710) FgHI= MNI& : (711) ZHI 2 @ (201) LA el s me
o = d @ <
= A oH = 2t Ab = X
2 g_ kIIgF = 01' Qr 0:” A °_." =) =] Qr = | =
St RANEYS AIHMLEL2(HE, S0, REXE
ek
15,000,000 x 14! 15,000
of. AX2 11,060
StaetA KA EHALK EAMA 11,060
- Z3yel 395,000 x 101 x 790 4 x 23 5,530
-gmeg 395,0002 x 1CH x 7IH A x 23] 5,530
85,376 29,882 55,494 |02 =Z2Z=2%H|
of. ZZ22 2 HA 30,700
OISHES) EMR2 XN (ZELH)
50,0009 x 2[H x 12’ 1,200
2R BEIY 750,0002 x 2CH 1,500
ASIHMA 22 200,0002 x 2CH 400
CLEZTHEII(28HA) HI.EMNQRRIB(AA)
2,300,000€ x 128 27,600
3. AI&ZEH KX 48,000
SlaTAlEZ2 X2IHBAAH(GIS) S22
20,000,000 x 1A 20,000
EZHEIH(28MA) A el (d4)
1,000,000 x 287 A 28,000




[ St ]
2 (700) Bt AIRHIE 8 @ (710) ¥HIE Mg o (711) A4l 2 @ (201) LEr2AY| el m )
ot =2 H oA -«
= ol  AF o = 2 At = J| =
o |5 NE = of &b o
o4, XtzhM ety 6,676
=2 (A8) 3,338,000 x 24 6,676
206
24l 23,000 24,800 A 1,800
23,000 24,800 A1,800(01 LBHIH2HI
oSt E Al&dE 24 P 5,000,0002 x 14! 5,000
odteE FT2£Y g 180,000 x 100= 18,000
300
AA0IH 936,848 828,952 107,896
307
0l 2v0| & 850,000 750,000 100,000
850,000 750,000 100,000 |04 I2FSEFCHEH AL H
CoHAUBC FH&E AEES e 937,500,000% x 80% 750,000
oEAHZ2 2oAE 2Y 100,000, 0002 x 14l 100,000
308
XSSO A 86,848 78,952 7,896
86,848 78,952 7,896(03 ZIIHELHZ HA 242
oGl E ARE QEHAS SUZ(ALTAAA)
8,684,703,5002 x 1% 86,848




SteEAIRIHIE & : (710) FYHIE Mg : (715) 2erereit] S 1 (201) YEre ) (ciel - mE)
8 o9 o=
of o o s & = J| ES
2 S ol A o
zaly 118,511 107,805 10,706
200
=& 114,769 100,321 14,448
201
2 B2 39,709 31,621 8,088
29,849 21,761 8,088/01 At 2r2ltl

of. prsg| 13,570

SHeY Lssg 4,000,000% = 4,000

ShCRE Lssgl 3,000,000 = 3,000

B ADE 200,000 x 504 x 43] = 4,000

TCHEEE 22H 428 7Y 2,570

-23 200,000& x 401 x 23] = 1,600

-5l = 180,0002! x 44 x 18| = 720

~8 A1) (A1) 25,0008 x 108 = 250

c2. S S| 900

EELE POl 150,000% x 38 x 23| = 900

5. = EH 15,379

SRR 3,675,000% = 3,675
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15,000& x 1H x 2¢&

,056

,320

,056

280

30




=

<+

T

o
o)

o)

o

T

ni

i

1 (732-2)

A 3

: (700)

230,000

%:

S
K1 o
o
(]
e
(@]
o
(aN]
o)
ol
o
I K
T
ﬂ
r
" =<
< [0
D
&0
I__JI
Ell
<+
1<)
frS]
010
0
o o o o
o S S S S
nd © © 0l W
Al (QV) [QV] (V]
Al Al Al Al
[aN] Al (a\] [aV]
Klo
(e>] (@) (@) ([e>]
H 3| 3| B3| 8| 3
~ ~ ~| o~
o<
LA
o (@] (@] (@]
s | 8| 8| 8|8
o o ol o
e o (ep] (ep] (ap]
< al al al al
S
oir
i
o o
a| o
4 Mo
%0 K9
<k | oD
or | oM
RN
760 EUN NG
L= 4| Cr
B N o B
00 | 2ur
1]




100) Rt T E (120) JtS & HI Xt Mg : (121) EX S ¢ (405) MMHSHIS o : ma
ot 4 &
= oo z & = o S
g ME s oo
A= 5,463,577 10,942,089 | 25,478,512
120
Jt= &l At 3,762,493 2,010,211 1,752,282
121
EX 25,000 0 25,000
405
ANEFHSHIS 25,000 0 25,000
25,000 0 25,000(01 XKtabF =4
330t HAEX & 25,000,000& x 14l 25,000
124
TE= 3,710,993 2,010,211 1,700,782
401
ANEHI S 3,710,993 2,010,211 1,700,782
3,701,000 2,003,000 1,698,000 Al & Hl
MEol@ of& FH|(POOL) 600,000, 000& x 14! 600,000
oMEDIR 213 otx% E4&(POOL) 350,000,000& x 14 350,000
o2t A Gt=S F4(POOL) 200,000, 000& x 14| 200,000
CHMHM 23 S+BARY J2EH 2
250,000, 000& x 14! 250,000
oXYUS HEXZSEHW F otx% MES 3 AHL=400m) 100,000
- & AlE Al b 100,000, 000& x5.11% 5,110




S : (401) AIEHIS

&l )
"
" = o o & & | S
SNR=:] 94,890,000& x 14l 94,890
STOIS THEAIZ L2 st45 JHE4 2 AHL=300m)
40,000,000& x 14l 40,000
SBES ANURSHE ¢ 5H4E 24 BAHL=100m)
80,000,000& x 14l 80,000
oMIE EH2SH U2 54T M4 2 AHL=700m)
100,000, 000& x 14l 100,000
cTEES TET4 54T HHIZAH(L=40n)
40,000,000& x 14 40,000
ocAFZ MAHAE 222 & XIS AH(L=250m) 200,000
- &AL A I 200,000, 000& x 4.08% 8, 160
SNR=:] 191,840,000& x 14 191,840
ocdE BY2l MU4XOIIE oS & Ul 3 AHL=40m)
50,000,000& x 14l 50,000
cods SUXNT HUY A2 FUI(L=2,700m)
9,000,000& x 14! 9,000
oTE® HMU42l 545 & XIS AH(L=120m)
40,000,000& x 14l 40,000
SMUE 2SN BI4E HB4 ZAH(L=175m)
60,000,000& x 14 60,000




: (120) JtsSEHIXHA Mg : (124) R=2 S ¢ (401) ANlEHIS (o9
¥ od =
o & o s (el = Il =
= o o
oSS 13,205 St+= M=+ 3AHL=240m)
72,000,0008 x 14} = 72,000
LS 4EEFNSA LUHAAE ZHISA 300,000
S AAEA Y 300,000,000& x 3.73% = 11,190
- Al &l 288,810,000& x 14} = 288,810
CTTHRHSEHIH EXSA 2 % HAl &
100,000,0002 x 14} = 100,000
c&dis 42l o203 ¥ St M2+ SAH(L=150m)
30,000,000& x 14} = 30,000
oSS g42 NN st SHE HH S AHL=600m)
100,000,0002 x 14} = 100,000
OEEE 3948 AU StETEHE HE S ZAHL=640m)
80,000,0008 x 14} = 80,000
oEZS #ZAMI2l st &F 3 AHL=280m) 190,000
S EAEA Y 190,000,0002 x 4.08% = 7,752
- Al &l 182,248,0002 x 14} = 182,248
cFSE 165X ot EXISAH(L=172m)
50,000,0008 x 14} = 50,000
oHES 39, 41SX ot JHE 23 AH(L=100m)
30,000,0002 x 14} = 30,000




[ ol 1t
2 0 (100) HEEIXS &t 0 (120) DS &H|KHa H& @ (124) =2 2 @ (401) AIEHIE crel - mal
ot = P I =
= AF OH = 2t Ak = X
o%)%% AERANANMSE DT Gta2H A=012 MHHZAHS
N A
50,000,000 x 1Al = 50,000
CANE AMASELIA G FHHIZAHL=110m)
100,000,000 x 1Al = 100,000
CAMESEHIN AMIHE L MSELdlA SHEXZA 2
10,000,000 x 14! = 10,000
oXéUstL M PH (WAL OIIMESK) U A Hl & X
150,000,000 x 1Al = 150,000
OOt BIXIAIA L MY I 2=HY A (40000 A)
20,000,000 x 1Al = 20,000
SMUHESXUH =F32ZIHE 22 AH(L=520m) 100,000
- ALAl & H I 100,000,000 x5.11% = 5,110
- Al & H| 94,890
-[&] 30,000,0009 x 14! = 30,000
-[Al' 64,890,000 x 14l = 64,890
odAUs A2 StEE =IHZ AH(L=280m) 200,000
- ALAL A H I 200,000,000 x 4.08% = 8,160
- Al & HI 191,840




100) XMt=HX = g 1 (120) Jts &l Atat Mg @ (124) =& £ : (401) AMEHIS

(cte @ A
o = d @ <
= A OH = 24 AF = =
-[&] 60,000,000 x 14! = 60,000
—[Al' 131,840,000 x 14 = 131,840
9,993 7,211 2,782/103 Al&=LUY|
o Al & 2| 3,701,000,000& x0.27/100 = 9,993
126
A2 18,000 0 18,000
405
XHAHE SHI S 18,000 0 18,000
18,000 0 18,000|01 XH&HH SH|
o232 MEO2 He2 EaRA(DH/Hd2Y)
18,000,000€ x 1Cf = 18,000
127
ZJ|RH E 8,500 0 8,500
405
XS SHI S 8,500 0 8,500
8,500 0 8,500/01 XtAHE SHI
oXMIEAD R 4,000,0009 x 104 = 4,000
oMl E QAR ZEH|(PDA) 2 1,500,000 3CH = 4,500




100) Xt 8 @ (130) BIDIS&BIXIA M : (131) AESARL =2 : (401) ALHIS ol - m)
ot = ¥ o4d g
o o s 2 ol =
z (g M = o & o
S &dl A 1,696,084 ,926,878 | A7,230,794
13
ral 1,696,084 ,294,878 | A4,598,794
1,696,084 ,294,878 | A4,598,794
1,690,000 ,986,000| A4,296,000(01 Al&H]
cRY(FZ, 8 of == 2 1,690,000
(=] 1,166,000,000& x 14 = 1,166,000
- [Al'] 524,000,000& x 14! = 524,000
6,084 8,878 A2,794103 A& =20Hb
o (55,8 ot == 2t 6,084
- [Al] 1,690,000,000& x 0.36/100 = 6,084
Kt&k 5,000 5,000 0
151
S Aot 5,000 5,000 0
1
5,000 5,000 0
5,000 5,000 0[02 &EA&IHEHI
ocLHAEN T2 5,000,000& x 1M E = 5,000




(710) YebIE Mg (713) Ha =] g o : mal
oW o=
o & o 2 & =
o & o
22,087.354| 15,467,352 6,620,002
22,087,354 15,467,352 6,620,002
22,087,354 15,467,352 6,620,002
100
ey 876,221 876, 145 76
101
ol 24 876,221 876, 145 76
173,325 172,424 90101 24
cxH224+Y 173,325
NEITIESE 7,457 x 109 x 30AI 2t x 128 26,846
N2 +2 (SR, SHT L)
7,457 x 242 X 50AI 2t x 12 107,381
5222 56,1753 x 69 x 116 39,098
672,404 671,342 1,062(03 I3
c2H0I5 o 531,056
23 1,134,330 x 128 x 122 163,344
g 4g 1,704,330 x 128 x 200% 40,904
Bosy 1,704,330 x 128 x 200% 40,904




[ SHTHA T ]
0 (700) GHEEAMRHIE  F ¢ (710) AVHIS ME : (713) Hell S 1 (101) Ay col  ms)
ot s @ W =

g WE = L P & & ] =
HE el 1,704,330& x 128 x 300% = 61,356
E+E B < X+ 40,0008 x 128 x0.78x 128 = 4,493
IESE SIS 20,0008 x 128 x 1.48x 128 = 4,263
SrgFadg 90,000& x 12& x 12& = 12,960
g4 70,0008 x 128 x 12& = 10,080
A S A 160,000& x 12& x 128 = 23,040
JHAH 2 2 H] 110,000& x 128 x 128 = 15,840
ME=g N 140,000& x 128 x 128 = 20,160
SE St 1,704,330& x 128 x 150% = 30,678
ZHAH 5,000& x 128 x 222 x 12& = 15,840
AN2e22=4¢ 12,2303 x 128 x5A1 2k x 128 = 8,806
s22F+< 97,8603 x 12& x4& x 128 = 56,368
SDNESI= RS 65,2308 x 128 x 224 = 17,221
NHSHHIEXE = (F) 51,9903 x 12& x0.19x 43| = 475
NHSHIE X2 (1) 433,8803 x 128 x0.156%x 43| = 3,124
H = (0F=3]) & A 50,000& x 128 x 23| = 1,200




MEt

(713) el &t

M
40

=)

2

i

rx

<

OH
2=

=
S

[l

P

D)

65,000& x 129 x 23]

35,000& x 12¥

10,000& x 12&

20,000& x 12

5,000& x 12&#

531,056,000& x 11.1%

80,000,000& x 1&

58,

80,

,400

,560

420

120

240

60

948

000

32,379

tol
P
oY

ux

e

b
o

o
o
0¥
0!
[
re
1

bl

35,290& x 102 x20€

7,058,000& x 11.1%

o (ordxtel)

200,000& x 15¥ x7&

110,000& x 159

22,

21

,842

,058

784

650

,000

,650




SEETTES Mg : (713) H2l =] S @ (201) Lere ) (g9l : @

P I =
A oA = Z Ak = J| =
2 ol A o
20
2% 2| 1,946,667 1,121,884 824,783
201
sty 567,717 538,504 29,213
272,363 294,120 A21,757(01 At 22l
o1, Lotz 143,446
CBEN2Y Lt 5,400,000 = 5,400
C2AE MAALADE oY 4,000,000& = 4,000
SABIES IE MES DB 24|
2,500,000 x 20 A = 5,000
StaXMel&=2d JIE 24 4,000,000 = 4,000
S MYDIEERY 1,5202 x 3000 X 200 A x 12’/ = 1,095
CEI|OHE B 16,920
-REILG S R 550,000% x 128 = 6,600
-SRELD YD SO 180,0009 x 204 A x 128 = 4,320
~EOEHEILY, ATMHESEHIH
250,0002 x 2JH A x 128 = 6,000
SHERINI| SHEE BALLZ(REEL, EH)
60,0002 x 258 x 43| x 20 A& = 12,000




[ SF=THA D ]
2t 1 (700) Gt AFHIR g ¢ (710) YYHIS Mg : (713) X2l &yl £ : (201) Let2Hy| (el m)
i/} = d o4 &
g WE = T I & & | %
SHEMelE Y AYEY 242 (22X, 26)
2,500,000 x 24 A = 5,000
FEAMN =42 17,0002 x 200 A x 12¢ = 2,808
A Z 28 ey 16,5002 x 3652 = 6,023
ZU2SHAAAE S22 B4+
50,0009 x 20 A x 128 = 1,200
SETMS B 22| AAF =22 (C002 4ME=2)
5,000,000 x 204 & = 10,000
CAETNS |X 22l 9IE 30,000,000 x 2 A = 60,000
CSUHBBoa AL IR (5EFD])
10,000,000 x 144 = 10,000
o2, S NS 4,142
ShEXEIANERY 3 ASNSTY
150,0002 x 11 x 13| = 1,650
M| b 22| Xt QI E DK 160,0009 x 4% x 13| = 640
SATE NOIL ¥ JE=HEE DS
150,0009 x 5% x 23| = 1,500
JYQ MHHMBAR DKH(REZ,EHH)
176,0009! x 2% x 13| = 352




Mg : (713) H2lFY) S 1 (201) Yer2 (2o
S
5 & & | ES
o oo
3. 2Y+Y (LY, P2EZ =) 96,200
Ep 50,0002 x 4% x 1162 = 23,200
SRS 50,0002 x 4% x 3652 = 73,000
=4, Ul =4l 5,445
e 130,0002! x 33 = 4,290
oF 7 3 35,000 x 33% = 1,155
o5. 2| 21,630
SN2Y Sl 7,350,000% = 7,350
SN T OFALHIBET SA
7,000 x 6% x 102 x 123 = 5,040
CBHAREE HIMDRT 247,000 x 102 x 52 x 123] = 4,200
L GHATHOIS L Sz X XA =T OIA2LX 2
Al
7,000 x 6% x 102 x 123| = 5,040
o6. YxE 1,500
TEIT SH4HAT SLEM DA Ul YR
300,000%! x 53| = 1,500




[ SF=THA D ]
B (700) SATMYHIE B ¢ (710) FHHIE ME : (713) HelZy S ¢ (201) YUl col s m)
ot _ = ol A o 4 ¥ = = 2t A = 7| ES
= [z NE = o & o
295,354 244,384 50,970|02 33294l
o1, 3322 % NMA 60, 656

EA2E 2223 1,536,000& = 1,536
Aot AIEZ 25,200
- 2ELZot=XHeE ¥ SHEZE 1,600,000 x 128 = 19,200
- Sofiot=xaE ¥ SHEZE 500,000& x 12& = 6,000
RS (FEZE, Edf) 70,000& x 3CH x 12& = 2,520
HdEIHE AIES 21,600
- FEIZSI=XHlH (73 H) 800,000& x 12& = 9,600
- Edlotx=HMel & (53 H) 600,000& x 12& = 7,200
- AARE3ot=TAIE (400 4) 400,000& x 12& = 4,800
TRSLEIISMAIZES(FRET) 200,000& x 12& = 2,400
dHEI =" H (ot=Hel &) 140,000 x 4% = 560
ASIHA, BE=2 700,000& x6CH = 4,200
S RE 3 2,640
- ANEZ 200,000& x 3 A x 23] = 1,200




[ ob=TH& I ]
21 (700) BT AIZHIE & @ (710) BB Mg s (713) HMel&b) S ¢ (201) LEr2Ayl el M
s = Lo 8 @ & ) “
= A (0] = 2 = _;Tc_

- A= x 120,000& x 6CH x 23| 1,440
=2, Azt 8,607

-oteXelE HEY HEH
1,100 x 1632l & x 120 x 40/100 8,607
=3. A& &Hdl ®Aldl 193,846
HHEHH KA 7,200
—-= A 300,000& x 4CH 1,200
-0 O0IN ZelHIl KA 100,000& x 1CH x 12& 1,200
-ZEHI KA 100,000& x 4CH x 12& 4,800
A=A 2eldl 17,546
-AELotXeHE 2,086& x 3,682m 7,681
-Soiot=HMel & 2,086& x4,729m 9,865
-ot==X2E I ¥ MIILHl =Xl 69,000
-Sollot=XHel & 30,000,000& x 14l 30,000
-HELol=HMelE 35,000,000& x 14l 35,000
A3 3ot A4 1,000,000& x 404 & 4,000




Mg o (713) ™el &l £ : (201) et (

ool E
SN
i Z &t = pJ =
2 oo
S MElE MEBR(EH)IA 22| 53,000
-PETGAMF 100,000 x 1501 = 15,000
-Ediot Rl E 100,0008 x 3001 = 30,000
~AARZBotaHMeAIZ (R, 30) 100,0008 x 80 = 8,000
S UHSHOAA(PPLC)RK 2eltl
5,000,000 x 24 4 = 10,000
SHAHTH(MEA)RNH(ZSZEH | 295)
70,0008 x 30% x 13| = 2,100
SUANZKTHI(SAAE 2004Z) 10,000,0008 x 204 £ = 20,000
=EZZJ U (FUHE) =HI(2ERE)
5,000,0008 x 14! = 5,000
=ENSAHZI |X22H(FEE) 5,000,000& x 14! = 5,000
CHIAIE RNERH(RSE) 5,000,000 x 14! = 5,000
o4 X2 et 32,245
=1 2,635,0002 x 10§ = 2,635
- SHE X 26,257
- & 7,432,0009 x 204 = 14,864




]
St At HIE & (710) 2gHIE Mg o (713) ™el &l S ¢ (201) get2aH] (o

SIE-E)
= R
o & o 5 2 I 5 g ES
B = o A o
- 4,717,000& x 1CH = 4,717
A 3,338,000% x 20} = 6,676
- e 3,353,000 x 104 = 3,353
202
01 b 113,100 110,400 2,700
113,100 110,400 2,700/01 2WHL K04t
oxEQYUS E=Xoj| 20,0002 x 342 x 112 x 128 = 89,760
oZQ HOAY =X BHO0IHl 60,0008 x5% x 3L x 113] = 9,900
cTIQAMBAN DS EHOIH 60,0008 x 42 x 62 = 1,440
SHEIA =MAR AAEH SHOY
60,0002 x 4% x 32 x 10| = 7,200
oM BIAHRANL 29 MXSH 28
60,0002 x 3% x 3 x 83| = 4,320
oY UHMAAY DS SHOIH0,0008 x 2% x 42 x 13] = 480
203
o2 =7y 4,680 4,680 0
4,680 4,680 0/04 2ASIALETY|
cRN2Y USRI (HY 38H) 4,680
ol = 350,000% x 122 = 4,200




[ ob=THA B ]
2t 1 (700) Gt AISHIE st (710) FgHI= Mgt (713) Ml &l 2 @ (203) AR=&H el : mE)
o = PSR B =
= of & oA = Z At = J| =
o gy NE = of & o
En)! 5,0002 x 8% x 128 = 480
206
H 24| 778,620 462,400 316,220
193,430 79,550 113,880(01 <LBHIH2HI
oot HMelH 2% I Hl 86,800
St=HM2IAld HH H2RU(REX)
400,0002 x 12& x 23| = 9,600
St M2l Alad HY MaP2U(E6H)
200,000% x 12& x 33| = 7,200
SAFEHE 29 a2y 3,000,000 x 6IH A = 18,000
AR 225taHAA JIH.MI| HU HEPY
100,000 x 108 x4 A = 4,000
TNSS X228 AZE 22 2,000,000 x 2 A x 128 = 48,000
o XN ASAH M HI 28,760
A8 AN ASBT RA(REEL) 150,000 x 604 = 9,000
Ue Xedsd As8IT 2(So6H) 350,000 x 200 = 7,000
Qs ASHT OlF)| RY(REL, Ed)
2,000,000 x 204 x 2MH & = 8,000
ASXT MEY PU(REX) 7,0002 x 1800H = 1,260




Mg o (713) ™el &l £ : (206) M=4l (

I

]
z

ool HE)
& _
z & = J| ES
0_|l-|

ASE A R (EH) 350,000& x 1094 = 3,500
SAGIDIX OITHAF 2 OIDHTH T (EH) 23,000
0 Th Al 30,0002/ Ef x 3008 = 9,000
Of ITXH(CHECIAMOIE) 20,0002/ & x 700& = 14,000
SHIZE WBPY(REE) 7,750
BH 2+ ( 100A) 100,000l x 50 = 5,000
= 250,0008 x 574 = 1,250
SEE 300,0002 x 57 = 1,500
ocAlyx ZZE YUE IY(REL) 250,000& x 2004 = 5,000
ocBXE Mg FY(FREXL) 15,000
30l & 1,500,0008! x 504 = 7,500
= 1,500,0002 x 504 = 7,500

olidlel WEBEIN HIAWE Y (TEE)
1,200,000% x 304 = 3,600
oXSs T2 PLCIE TY(REE) 2,500,008 x 674 = 15,000

oJl0f, R S I HES PY(REL)
3,000,000& x 14 = 3,000




3 (710) YIS Mg : (713) Mel =l S 1 (206) HEH (ciel
2 ¥ ou o=
o & o s & = | ES
ol A o
SHZJ 2 24D HSPY(RSE) 1,7008 x50 ¢ x 128 = 1,020
SHER 2 YAR(2LY) PY(SH) 3,008 x 1,5002/H = 4,500
139,990 78,050 61,940/02 <4
oot+ANELE SEH 7Y 139,990
FETHEHUEF 4,000% x 1,000kg x 128 = 48,000
FET AMAE RINSEH PY
1102 x 1,000kg x 3652 = 40,150
sHot M H (BN 2 15)
3,600& x 1,200kg x 128 = 51,840
445,200 304,800 140,400 |05 =<H|
oot=Xel A& 445,200
2EE o 20,000,000/ x 122 = 240,000
sdot M2l F 16,000,000 x 12942 192,000
AR2 BBotEHAAE (ML) 1,100,0008 x 128 = 13,200
207
SH DAY 471,650 0| 471,650
471,650 0|  471,650|05 OJIEtRILI
cTBEGAHAT 2SN BI 1A
6,000,000& x 1CH = 6,000




2

Mg o (713) ™el &l =
= Z = Il =
[Eod ZAMMEI 228 WA
5,500,000& x 2CH 11,000
5,000

=
S

i

OH
=
;E_LL =

rx
0

5,000,000& x 1CH

= WA
8,400

=)

dAXl =8I 5
700,000& x 12CH

WH(FEL)
2,500,000& x 604 15,000
4,000

4,000,000& x 14|
10,000

1,250,000& x 8 2~

)
,000,000& x 24 & 6,000
8,000

2,000,000& x 404
9,000

1,500, 000& x 60H

H(RER)
A(FEE)
,000

Jz
I

ocAELZAHE
WH(REE)
14,500

14,500, 000& x 14
50,000

PLC A28 uM(FEX)
25,000,000& x 2(H




[ ob=THA B ]
2t 1 (700) Gt AISHIE st (710) FgHI= Mgt (713) Ml &l 2 @ (207) &« DAY el : mE)
o = PSR B =
= of & oA = Z At = J| =
o gy NE = of & o
cRMNMERXT HEH(PER) 15,000,000 x 104 = 15,000
o= 01s 2HH A2E DH(RER)
15,000,000 x 14! = 15,000
oEHEBILA MIIBY DH(FEE) 15,000,0002 x8IM A = 120,000
oX2It £%H DH(PREXL) 3,000,000 x 7 A = 21,000
oXdtE2s T XHE DM(RER) 20,000,000 x 14 = 20,000
OHXEQLHEI NH(REL) 7,000,000 x 7 A = 49,000
CEMG MY L SHEIXN HANAZ =XMX DA
95,0002 x 25004 = 23,750
oEZHEITH XNBXEI DH(SH) 9,000,000 x 1Al = 9,000
CPHMMMIAXXI(UPS) A (EdH) 2,000,000 x4 A = 8,000
o2L EZEHMeld WA (E6H) 20,000,000 x 14l = 20,000
oWt Hi2t DA(SdH) 7,000,000 x 1Al = 7,000
oEED| A& (EdH) 12,000,000 x 14l = 12,000
208
of 2} gty 10,900 5,900 5,000
10,900 5,900 5,000/02 A& 92|
oXAEAZ AL U EZXIP R 65,0008 x 158 x 43| = 3,900




[ St==TH& I ]
2 1 (700) St ALHHI S g (710) SHIE Alg + (713) HMel & S @ (208) oL (e : M9l
ot = & 4 &
= A o = 2+ A = X
o | & N = ol il o A o S = o = J| =
oFHUEME AZH JINM(GF/C) LY (45)
150,000& x 5& x 43| = 3,000
oT-N, T-PEAE AAINE FL(FEXE) 200,000¥ x 208 = 4,000
dd01H 19,264,466 | 13,469,323 5,795,143
301
LEtE o= 4,400 4,400 0
4,400 4,400 0[08 JIEtE&a=S
oot=HMelE =H(A&UIS 288 XA )R B4 1,558
M JlIESE 4403 x 858 x 201 x 12& = 898
2o Xl 30,0008 x 222 x 12| = 660
oREL =232l A UALE4 2,842
MY IISE 3102 x 140 x 201 x 12& = 1,042
==Xl 30,000& x60= x 12| = 1,800
307
grzrol 19,260,066 | 13,394,923 5,865,143
19,260,066 | 13,394,923 5,865,143 |04 QIS A AL HI
oXgotrXclE 2UAAE =S 15,438,948
DEANE= 5,107,100,000& /365€ x 365 x 1.15 = 5,873,165




Mg o (713) ™el &l £ @ (307) gltold (

[

[P

ool A
3 _ _
E Z &t E pJ =
O_|l-|
SteBiSAER 9,164,470
- 12 109.70% x 58,000 x 3652 x 1.15 = 2,670,702
- 2t 101.782 x 152,000 x 3652 x 1.15 = 6,493,768
SELHEANEE 1,912, 152 x 500k¢ x 3652 x 1,15 = 401,313
CEUGLHMAY QLAS2 A (ML) 3,225,668
staAE2 819.89 x 9,800 x 3652 x 1.1 = 3,225,668
o= HelHe H4 WRHN,0008 x 500k x 3652 x 10/100 = 18,250
ot NIl Hel 577,200
- AEEGSHF 190,0008 x 190 x 128 = 433,200
- SofstaxielE 50,0008 x 240 x 128 = 144,000




w

OF == TH &4 ot ]

: (100) MHE=EXS g1 (120) Jt=S & H| XA Mg @ (123) 22 2 : (401) AIEHIS (ctg] : ®)
N =1 ! " & @ & o A _ _
_ A o = =
o | & P = ol Al o A o = Al = Jl
100 ~
INE=ESONES 11,737,470 8,826,741 2,910,729
120
Jts & | XHat 559,470 5,566,741 ~5,007,271
123
A2 13,000 4,763,530 ~4,750,530
401
ANEH S 13,000 4,763,530 ~4,750,530

13,000 4,700,000 A4,687,000/01 Al&H]

osdidt+=HMel & 2els Hets NSEX

13,000,000 x 14 = 13,000
125
I & X 514,220 211,886 302,334
401
AEHIS 514,220 211,886 302,334
511,000 210,500 300,500 |01 Al & H]

fEB3ot=HelAE ZAMAEI £X
30,000,000& x 14! = 30,000

oA ELStXME OlAM=AT ZAMHEX &X

15,000,000& x 14 = 15,000
oclEXTHBELY 222 ZEE £X

3,500,000& x 200 & = 7,000
ozl X &H £X(FER) 80,000,000& x 14! = 80,000

cIXMEEX OINMS A8 AX(FHEX)

25,000,000& x 14! = 25,000




[
o

Sb==TH& 1t |

21 (100) HEHXE g ¢ (120) JtS &YX Mgt (125) D1 & S : (401) AI&HIS ciel : mal
ot = ¥ oW o<
= e WE = o & o) ow| 2 & = p %
CTEBEZHHIY FIE AZAL SAUBMN(REE)
170,000,0008! x 14! 170,000
CEQ(T-PIROIS AZNSALAY SX(PEX)
100,000,000% x 14/ 100,000
CMMERMN HMEHI MX(PBE)  40,000,0008 x 14 40,000
cLUX4+T NEYI AFYXNE BY SX(EE)
20,000,0002! x 14} 20,000
SHFX A U NB HMALH 2 (SH)
4,000,000 x 4% 16,000
SAOIDIX EOIAIE &Y SX(ZH)  4,000,0008 x 2% 8,000
3,220 1,386 1,834/03 A& SCHHI
o A& 2 0| 511,000,0002 x 0.63/100 3,220
126
AEeern 5,000 0 5,000
405
NEETTE 5,000 0 5,000
5,000 0 5,00001 XH&HE S|
o2l 7Y 5,000,000 x 1CH 5,000




[ Sh==TH& D ]
2 (100) H=HXE g 1 (120) Jts &l Atat Mg o (127) 3217413 £ 1 (405) X&FSH S (e : ®Sl

i

)} = d B8 &
= A OH = 24 AF = =
27
S 782 27,250 7,300 19,950
405
A&FHSHI S 27,250 7,300 19,950
27,250 7,300 19,950 |01 Xp&FH =HI
oMI= A 2 4,000,000& x 14 = 4,000
o AIESEI| 2 500,000& x 104 = 500
o[l XIEItH et #¢ 450,000& x 10 = 450
CE2MMHI FU(FEE, Edll) 700,000& x 204 = 1,400
oEANHMI HAZE HH SZAHA RA(EH)
2,500,000& x 1CH = 2,500
ol =) RYU(FRERL) 300,000& x 304 = 900
oXEE NLANEHI FL(PREE) 3,500,000& x 1CH = 3,500
o&IIA A FL(FEE) 2,200,000& x 200 = 4,400
AN ST ABUA 2Y(LET)
9,600,000& x 1&] = 9,600




[
i

Sh==TH & ot ]
(100) MHt=2HX = & (130) HIJtS & HI Xtk Mg+ (132) 2AAEAES S @ (403) SSII2SOICHSHH AL S HI

- (G« A
i = X " &8 | &
_ A 0 = o = =
o | & N = ol Al = o A ol S = At = J| =
130
bl Jt = & Bl Xk 4t 11,178,000 3,260,000 7,918,000
132
ZAASEHE SR A 11,178,000 3,260,000 7,918,000
403 ~ .
SS) 2SSt AISE B 11,178,000 3,260,000 7,918,000
11,178,000 3,260,000 7,918,000102 S3J/2SUHEAIEHI
odle=sdAl XNISAIE A 9,589,000
[=] 6,712,000,000& x 14 = 6,712,000
[&] 719,000,000& x 14! = 719,000
[Al'] 2,158,000,000& x 14 = 2,158,000
oot els MOlSAY 1,589,000
[2] 1,430,000,000& x 14! = 1,430,000
[&] 47,000,000& x 14l = 47,000
[Al] 112,000,000& x 14 = 112,000




